GRADE 5 DIVISION WORKSHEET

Single digit division (ho remainder)

Find the quotient.

1.

3.

5.

7.

9.

11.

13.

15.

17.

19.

28 + 4 =

1,432 + 4

5,037 + 3

91+ 7 =

852 + 6 =

1,464 + 4

2,152 + 8

5,304 +~ 6

1,842 + 6

7,218 + 6

10.

12.

14.

16.

18.

20.

6,920 + 4 =
128 + 8 =
4,472 + 8 =
721+ 7 =
438 + 6 =
834 + 6 =
72+ 4 =

192 + 8 =
75+ 5 =

3,552 + 8 =




ANSWER KEY

Single digit division (ho remainder)

Find the quotient.

1.

11.

13.

15.

17.

19.

28 + 4 =7
1,432 = 4 = 358
5,037 + 3 = 1,679
91 + 7 = 13

852 + 6 = 142
1,464 ~ 4 = 366
2,752 + 8 = 344
5,304 + 6 = 884
1,842 = 6 = 307
7,218 + 6 = 1,203

10.

12.

14.

16.

18.

20.

6,920 + 4 = 1,730

128 + 8 = 16

4,472 + 8 = 559

721 + 7 = 103
438 + 6 = 73
834 + 6 = 139
72 + 4 =18
192 + 8 = 24
75+ 5= 15

3,552 + 8 = 444
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